SPEC INT =
{ based on BOOL,

sort Int,

0: Int,

succ, pred : Int — Int,

4+, _*x_, _— _: Int,Int — Int, Infix

)
== _, < _: Int, Int — Bool, Infix

- -

Int generated by 0, succ, pred,

pred (succ(z)) = z,
T

succ(pred(z)) =
(r==y) = (e <y Ay <)),

(x < x) = true,

(succ(z) < z) = false,

(x <y) =true = (z <succ(y)) = true,
(x < y) = false = (succ( ) < y) = false,
(z <y) = (succ(z) < succ(y))

O0+y =y,

succ(z) + y = succ(x + y),
pred(z) + y = pred(z + y),
r—0=ux,

x — succ(y) = pred(z — y),
x — pred(y) = succ(z — ),
xx(0 =0,

x *succ(y) = (x *y) + =,
rxpred(y) = (zxy) —x

}




